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it=1
# Rosenbrock function

def rosen(x):
a—‘ J\&Tﬂp / far— return 100 x (x[0,1] - x[0,0] xx 2) *x 2 + (x[0,0] - 1) xx

# Initialization
Xx= np.random.rand(1,n)

A P BestX = x
P(J e for k in range(Ngen):
tau = 0
for i in range(Nstep):

— (’P Zc‘ra-s (lmbaw-}_mu WH)) )i/t:i;c(+}- sigma * np.random.normal(@, 1, size=n)

fx=rosen(x)

q Q. fy=rosen(y)
p=np.random. rand()
fc' mu — f pr=np.exp(-(fy-fx)*np.logl(it))
if fy< fx:
tau = tau+ 1/Nstep
BestX=y
if (p<pr):
X=y
n) sigma = np.exp(l / 3 % (tau -1/ 5) / (1 -1/ 5)) % sigma

print(BestX)
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